2018 ()
9% UH

SR

A s Rl e g R ) ey e gitem o Bl (20 M AN+ 4 T 'R
W+ g0 wm G A ) wma Aeer v (MCQ) fay oy 2 Il A d e s
SR AT B @ s we e o O 26 we B et 29 ¢ | A Pae Y wle
gl & s @By oo dee el sl (e AT 18, e B § as awr s 'O R 2s)

i A el s | =

2 SN, ST G e @ R w2 | s o e Al s wmoan e @ ued
s MR B gfeamn o gwoqd ate ul 2 o el Howdom a2 af dw ok @

Sy sPafider o ul) els @) gRaw 3zt ar Pritee & et el uss @ loenane

ll i s BN d e wom T o wer e @ for afrRes oot gasr £ )

B Sl SR TEm 4yt 1 8 By

B

: U B Y BN Wle W R wen e e
SR o aie Ry, a @ g sem i aae oy | R o

4 o wed SO, Sy g 0 de s, o we qRtnet it e s @l @
HufeT 38 aol o e id 05 W wase e el g vens os @ faraifh &
R ag SO, SwR v 7 Ry g Brdat s gd e d aeer W, e n e
ey frmont *’*Hﬁtﬂ‘*ﬂ&?ﬁﬁi b e, Rarerel e et e, R s
e D R R e b e _

S W A e B wels e @ 2 o oty wr CUA wede g 4 A i e A
BN wle wam aray w woowes T @ 0.50 aw yen vy G A @ 1 s fean

8wl wE R R e Rwes By g @ ) Hag tw Haer 8wl aenn Sty

Il Fo R anel volis wor e el e Bl edggn g

7. Tod B gy ur i el wn watt ae g i it sl GOuTEE = e ot s |l

i it wharal @ B o i o wear g ; 5

| B el ) e wes wt @ sl e ol we ol Al feen iy

8 Famdey w audl e o e A oo =3
1o whien ety o g favg faftva v o OMIR e W el i Y | sfuiidie
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STFJT\PART A

ASN B U WM U Y O @
‘n'ﬁ?‘frﬂ'ffﬁ?n W gy T e
weE ﬁﬂﬁﬁitﬁﬁfﬁ'ﬂ‘ﬁﬁg'
ﬁ’t‘rram§ %Wﬁﬂz#ﬁ-
fﬁ?maﬁm Wﬁ‘lﬂﬂ
T AFEY ame o ﬁ‘mtmﬁ:‘%‘
sty @7 2 e v e Qe e
WIRRT e wmﬁ-&:
e frere m%wgﬁrﬁ‘ﬂ
Prer?

1. 30 2 28
3 3 ' X 28

A and B move clockwise around @ circle,
starting from £ tommiion Paint 0. A takes
' minum 0 »‘.:E:mpE-r:t-:: s mund hm Te-
starts after 3 delayof 1 minute. 1 rakes
13 minutes to complere ihe ‘wound but
restarts a!tcr a defay of 2 minites, Fow
many minutes after they began uau&& they

mieet agatn ar 07 _
:|'+ .ﬂ} 2 L
35 =3 4'., 2%

ot @ § ates foosl ssfe
& W9 wen 0 sne Beef A
wﬁﬁ%ﬁﬁﬁﬂ?ﬁﬁ"ﬁ#ﬁ?
aefEwr ¥, 7 far o gsd )
Sren wder ggad wd oy &
wamﬁfm#mﬁmﬁ

Taereff &2
1 18 . 2 28
3. 97 4. 23

Fourteeh of the students in a class ave
ggris Eight students in the oluss wear blue
shirts, Two are neither gicls nor wear blue
hirts, Ftw stidents who wear biue shirts
Jare g;ﬂq Haow many smdents dre there in
thecloss _

il 2,

2 T 4 24

Speed(kmhoar)

.- LG = i
3. L& G S

3. A stickof length L is broken into two

pieces at random. “What is. the average
length of the smailor piece?

L LG ST

o I 4. RS

A lmg-dts;am m;mw finds 3 water
station after c:wnpienng % 1tk of the total

distanpe: After: ‘covering another. —th of
the total distance: he' gem mfdvqairamd
Andther runner fmﬁs Him 4 km E‘bﬂﬂr the
medical-gid station.  The Wmnql runer
smp# 4. h:m before the completion of run, .
cmneq-mg £ of the total distance; What s
e taral dmmue:?
il Zhkm
3 42km

2. 30 km
4 “50km

'._;-Wmﬂnfamﬁwﬁ

%

b r'

g £ s 5@

38 56 7
Tireihour)

Wi # sthe sme war 27



1. G042 2. 20043
3. 1043 4 2143

Mavement of a car with respeet totime is

given below:
#®

T
I

el Wt ey
Tttt}

Fhe m*emgu speed of the car is

b 3043 2, 20043

3. 1043 4. 2143

w1000 w1 orw Awar &) Al
Yllm @fag Bl wH ° @9 2 50 @
Qure e afyard &, W e
=fT < aftyon ww R feet wad
w1 s a@lfra?

1, 7450 2. 7500
3. 1550 4. 760G

A ful station $o14 diesel sosding 215000 19
150 persons on a day. I the lower limit of
sale W 3 person 15 2 30, what 14 the

mEximam  amount in rupess for which

‘ane person could  have purchased diess]
an that day? _

L. 7450 2. 7300

3. 7550 4. 7600

frgal (2017, 2017), (p02v. Z027)
AT (2037, 2097) A« Py w1
gmd 2

1. 2017 2. 160
3. TODVIG: 4. 100428

The aréa of the trigngle formed by joining
the points (2017, 2017), (2027, 2027) and
(2037, 2017) is

1. 2017 21

3. 100410/ 4. 100+20"

I Sangeeta’s. duughter is 'y daughter’s
mother, then how am | related 1o
Sangeeta?

1. Son is'the only possibility

2. Son-indaw is the only possibitity
3. Daughter is the only possibility

4, Sun-in-law or daugher

.o 2 wmeqd

Four - miales My, My, My, My aid four
females 1, Fy, Fs and F, are siting around
-a tound table facing away from the table
“as shown.in the figure below. If gach one
‘maves theée positions to histher taht and
then one position to the left, then in which
direction doss T fice? '



4, Moarth

1o,

11,

BBl 24

Prof. Murthy Hkes to let her students
chobse wha  their partners il be
however, no pair of Students may wark
togethier for more than seven class perlods
in & row. Alice and Bob have warked
logether for seven class periods in & row.

Calvin and Dienny have worked together

for three class. periods g raw, :Cﬁi'-v'in
does not want tb work with Alice. Who
stiould be assigned to werk with Bob?

1. Calvin 2. Alice

3. Denny 4. Nore

44 Reafal @ wug ¥ 25 Reardht
Resrdl wewter sty 24
foc wod 21w A, 8

wWed ¥ feud fwardl way v

Brae oo e 27

o AR 2. 15
3. ﬁ;’*fé‘? 4.

1. 16/ group ot 44 players, 26 play hockey,

24 play football 4 24 play cricket, Eight
o them play boih hockey and football, 12
play both football and ovicket, and 5 play
il the three games. How many play both

heckey and cricket?

3
¥

Fr
Mone

Is
5

= 4

12, fear war &

{al =aif -a-}-ﬂj‘_ﬁg ﬁ. & s & oy

=0 o)

B ) e gw ooty @
Ry (o) = (0 (), g B o wi
W P W W w42

1.

2
.3_
&
2. I

{

x>0ty >0

_{-a:--::'ﬂ.sm-d y<0iorfx > 0andy >0
(x=0andy = 0} orfx = 0andy = 0)
x=0orfy = 0}or{x= 0andy =0}

1§ given that

& =alfa>0

=0if a E.G] for any real numiber a

‘Sitppose far two real numbers and y,
()= ()07, Then which of the
fullowing is necessarily true?

I

-

3
i

Y }U'ﬂl‘id}r =0

2idx = 0 amiy =0) or {x =0andy > 1)

- {x < Oandy < 0)or x> Oandy = 0}
CAxz0forfy = 0jar{x > Oandy = 0}

1308 I 93 @ smatsa oy
w1 wEm wfve wew few e o

SHTET _g.?:



15, TS 54 T 10 weey Rl
aﬁ?aﬁﬂﬁﬁmﬁﬁmwﬁiw
HE gl w1 amew W 2,

ﬁwmmm%ﬁ_
g
&

ﬁl

“red

2.3
4. B

di {ferent fmﬂ'l Ten. Wh-ﬂ: is the base of
this nunther syster if its equivalent 1»'3111&
1t fhie declimal a}‘m:fn i 4&‘:1

gy =l
3 6

NN ) Wk\i/\\iﬁj L5  Consider g dumber 54 ::xprﬁw,:d in a/bass
2

4
@&,
’fd-jg;

3
G

_:r:ilu

13, Number ‘of times a research pupcr r:'-

viewed and cited s shown in the pim -- o S x
‘which menth was the pesceniage inerease “ﬁ;ﬂ Wﬁ 1 o b eI

in citation more ‘than the double of the

percéniage increase in yiew? g e

3
)
1
1
i
|
i
iy quruo, Rlarki “m h‘lh‘ \\R& & e e 2m

1, February 2 Aprit 2 2.1
3. May 4 Juae GF T S =D

14 Rawt v & #13 w Rew a8
?ﬂﬁ"ﬂi &7
025 0.3,02, 018, 06, 03, .09,

ﬂ-‘: Lo 2

i 1.05 2 pEs . 3|
3.. 075 4. 065

14» Whu:h :::f ﬂm ﬁmﬂr:ming ﬂplmﬂ& 5 tfm hi.g

cham ﬁ::id- {h.& mmmg number? :
0.1, 025, 6.3, 02, u: oh 03,08
1.}4 i L‘r» I E

IS 2 oS

B 4 065



16. Which 6f the options s apprapriate for the
blank space?

-

1.

=]
|
3

- I S g

18 Two swdents pce 'spiving the same
problém independently. H the probabitity
that the: first one solves the problem .'is'g
dind the probiabifity that the secod solyes
the problem is j: what i the probability

: Dt ool o =y that at least one of thém solves the
w8 A, me it Aund (ad problem?

i
e
.

10,

o
WwE W

s
3
e
E
=

total shaded: ares (of the circle and: semi-
cirele o the 1ol area of the square and
‘the rectangle?

“
5
I8



B9, A Gl is deapped frofm o hefght of 100 m,

The ball Hﬁﬂf sich hounge rises. vemcai!}r-
by half fis previgus height (This mgsns at

the first bmnee Horises hy A0, by 25 m

at the second bounce and 50 ‘on); What iy
the vertical distance travelled by the hall’

between the first m‘;d the fifth bmlrr.cﬁ"

LT I 5 565
I i e =om
T iﬁ- 2
3 Sm 4 2=_.__..l'l’l

1o - 12
1. == 2 = i
v e
13 13
b PRt
3 16 14

20. . Three semi-citeles are drawn inside a big
“circle asshowi in the fizure. IFthe partiis

ad'thn two identical smaller semi-cirlosis -

= th crf th;&t of the big circle and the radius

_cﬁf the: b{ggm' semi-cirele is twice that of

the small semisvircle, what progortion of
ﬂmtrlg cirelesarea is shaded?.

21

2.

»

11 e
=) et
i 3.5.: e
Y 13
3 k] 4..1 Sl
= A * R

HENPART B

. ERERE RO [JoHRogT ¥ g
areel Yy i 41 gew e B
i

2 T - ameEEd

J.hnwlﬁlr anlon {IE{DH};'DH]‘ bis- oo
Hrideing oxo roups. The, peomieiry drvind

=m@h inding s

‘oetahudral
:f'. m&nﬂwp’pﬂd ociahedral

3. squire pymimidal
4. pentagenal Bipyramidal

W?ﬁmﬂa#mﬁm

LW OO, F fEeTs s

:Ww&mmmﬁma

=
mwm#mmﬁamm

. SERLETRA S afe e gt
W@'&meﬂﬁ?ﬂ‘ﬁl

7S H#ram‘fﬁmmﬁm:—‘rﬁ

Using &  double betm  UV-visible

peetrophiototiieter, Bédr's Jaw falfs for

1CH0O, solutian: whm

1. inwensity of light source is changed

42 ﬂtﬁ,‘:ctbﬁs nota ;&hmun‘guihpﬂw tube

L 8 f:wenwf 2 e sigs is. usad

4 pH ol }:ept same i all meastrements

Eﬁﬁh#ﬂwmmm

mp% wHERE ot
1B 2. G
b ot



23,

24,

24.

25,

25.

28,

S B

Trivalent lanthanide fon having isotropic
mag;;mtlc su.s:v;‘epchb:hty s :
I Eu'™ 2 Gd*
3 Yo & fa®

Gald ¥ gz Farerds ol B 3w &
2. REw s
1 Trewaiy

The structure of Cafl, is elose to that of
cesiwn chioride

nicket ursenide |

rock salt

zhne blende

C-0 e wEad a5 wa

L HsB-CO > [Ma{CO)] > [ONED)] >
[VECOL) '

2 [VICON = [CHEOR] > MRG0k >

3. IMBCONT > HiB CO > [VICD)] >
[ercay)

4 [CHEOK] > [V(CORI™> HiFco >
(MafCOy}

The catreet arder of €0 boad length is

1 HiBICO > [Mn(COJ) > -[CHCO)] =
e e e

2. [V(COLT = [CrGOL] > [Mn(CO%] >
HiB-CO

3 IMN(CO]" = HiB-CO > [VICON] =
[CHCO)]

4. [CHCON] > [VICOK] = HiBICO >
[Mn{€O I3

b Ga, Ge 75T As, A F A rEd v

S FOl A ¢, v d
. As 2. Zn
3. Ga 4. Gv.:

‘Among the elements Zn, Ga, Ge-and As, the

one with the lowest first ionization mevgy is
1 As Zi° Zn
3 Ga 4. Ge

R S § ool gew fewn &
mwﬂmmm

it 18 2
328 49

27.  The il degeneracy of the ground teem of
{20" {ﬁlgh spin} in octahedral geometry s

2. 12

3 "—'_’E 4. 9

s S | e
667/ Sewg

o1 m{ \G“#Q
1. @ x| W
b | | g

wff‘mt 2 SR -\ff-

28, For the following reaction

harzd

Fé, g =
] : ,ﬂ

the structure of the intermediate is
| @ % '

mg@“‘ﬂ

Ly
3. N i &, @

e P
g




29. 3d tmg wEA M Few TR HEw @

30,

30,

3.

-"-»sa.*‘.M.—'

seweEE  ImEEaeh #F & wﬁw
mqﬁugau? mﬂgwmﬁmm#’

L1BME 3o ME

2 Nt
4. Co"

L -Cbﬂl
31 C u.ﬂ

High spin complex of & 3d metal ion M has a
magnetic moment of 2.9 B.M. in- uclahadral
coordination environment and 4.1 B.M.
tetrahedral environment. The M ion s
1, o™ :
1, oy

KaCrOs (A) F8IT KaMoO, (B) % sdreeiias
At ¥ R ud o 4

. HFHITASG ST A, o FHA B R
HFRTLMCTE FeT A FIFH A <B 31

o o, L R

FEAT MLCT U A 37 FAA > BB

For electronic spestea of KaCroy {A.} and
KzMe& (B) e correct combination is

L. ‘weatisition is d-diand b, fOr-A<B
tiansition s LMOT and Apuy fOr A< B

3. transition is LMET and Loy for A > B

4. | transition is MLOT and b for A= B

o

NO A B UE gewgw & S oW

A TR EREH F viNO) § 22f

B. EPRERRT BNy & sehy

. Hﬂmaﬂﬁﬂi‘sﬁﬁr AEEE & 2
yifeat e Stehwa ¥ G

D. HOMOs ¥ Sawght @1 dshwe & 2
fieet A e g ¥ B
gl =

aﬁ I

. Fad A

g ¢

BauTD

A BFMIC

i

HERTLMCT & BT A 87 FHEA =B L

10

£ 8

3z,

3.

ittt i o)

Ry 18 528 -nm).

Removal of an r::!enu'rm from MO nmtc-.,u!:

rEsults i

A, an increase in the W(NOJ in'the IR
'3;a¢¢:mm

B an EPR active species
6 e‘laﬂrﬂns in HOMOs being: closer to

! the oxygen than lo nitragen 2p orbitals.

D, glectrons in HOMOs being closer to
the nitrogen than te oxygen 2p orbitals

The correct answer is

Aonly

Aand C

Band I

A, B and €

-mﬂ{ﬁﬁaﬁmﬁﬁﬂr&u@%w
-WTI#?&@F*‘?&WW#

mmlm,;wﬁ:mmﬁtm1 aur
N few B (L, 9 R

Py 520 nim R

X {;-m' 3 i m “: I:;"silun F&[ﬂ}
) | wamn (h 30
(b} | wd 2w | 00
(e} | e @ (iit) 350

@ %ﬂﬁiﬁm ESE

A Gy () — (0 (o) = (R )= (i)

2 Gyl [ L R )
3 ) {ﬁ;@hl—um del = dividdy = {5
Sl = v (B - (R e =k (=)

Cunait[ar the nature of solvents in column |

_.smd th@fmpﬂndmg enles fur b in various

solvents given in column 1. (for Is vapar

Match: Gﬂ’iuﬂm | mt_h

Column 11
Catumn T Column i |
] L T—
{a) |non- ~donr fil 5aik
{(h) | weak donor ) S0
e} |String danor A 450
s 1&1} nclectrim dongr -.F:Fvg_ 1 A6

The corract match is

L @i ={in {b]-f‘ii},{u}—cm;r, =iy,
2 @) G (B (v (e = (i ()= G)
A =) k) - G e) — vy = (i)
A e = (vt - (i (o) = (1% () =)



33.

35,

3 (Dyenly

WL wUF wAEy B §
{A) Cu T Zna¥l HiRsmEems &

(B FE Cod 3 £

(C) Zn FRDTEEE £ AT Gy B gt
e U Ty § gRehe
¥ wwa ¥

(D) 20 &7 Tl gET SRl g tmnrrq
& sfeafa sy awd

1 T (N 2. FAW (C)

3. FEw (D) - ()7 (D)

For the ecamlyic ‘selivity of Cu and Zn

‘containing enzyme, superoxide dismtase.

Awhat isfare the eorreet statement(s)?

{A‘,I{Zu and £n both are essential

By anly Cuis mmii&i

iy Zncis essintial and €4 may be replaced by
any. nti‘rw divalent mietat atom

(D) Znmay be raplaee&by any other:divalent
metal-atom s

b (Ajenly 2 {;}.}:mly: >

4. (Bland (D)

T Al & pEEE R W) e
faw Raar boar oM ﬁtﬁiﬂﬁm
493 W SR AT & R i W E e
L. g 2. W
3. gl % nﬁ#mﬂ

Tefass spﬂatnnn af a udmpwnd shows an
IM+"’] o peak thiet is: -about 4% of M. This
u{dmmm that the' mmgnund has one

- fluoting
1 st
3. bromine
4, chlorine

1. KsFe(CN)s

200,

1

The major product formed in the following
rmtcﬂorn s

OH

CT




32

3. Peffes dfet & aftw @ MR
wRe & ofY ffafver woa <
m'g' :

. Wlfee aeigs <At YR <
v trEgEe < Wfitares
Z WTEE«: ﬂﬂﬁﬁ?ﬁﬁ{ﬁ;ﬂﬁa{
-3 ﬁ‘%ﬂmﬁg WW@HW ' ,\yl\ | n-Bull -80°C
FANES < Al tHne it MMl
8, AR e < e < b ' oH

36. Far the: following compounds, the correct T
order of reagtivity towards nucteophilic acyl =1 :
substitution is '
1. ageryl chioride < methyl acetate < Agetic
anhydride < acetamide

2: acetamide <-methyl acetate < acetic i
anhydride <acetyl chloride

3 acelamide < acetic mfhyﬁfriﬁe < avetyl
chioride= methyl acétate 4

4 methyl acetate = acetamide < agetic
anhydride < seety! chiuride

A : o : ! ; 38, The major product formed in the following
37, fefates w@few # sower nog e g i :

N Lilig NHy g "~ e

MeOH, il NHAE1

."‘4; |

H

38, Powfafaw A & sew 460 SR

‘H : H
3 ‘ 4. T 5

I |7

H H

37. The nmmr product formed n the following
reﬂcﬁ"nn i5

H

MelH

) ..
_ s




OHC  CHO:

B S | ]

39, The major product formed in the following
peaction is '

g MR
_/=<_/G'H >
Ho—/ N\

Bl %
w

e

.'{]

-

o)

A0, TriRTEw s A e qen s E
& LiATH,.
St

il

OH

40, The major product formed in the (ollowing
reaction is:

i LA,
MeONa
THF
i g

DW”GH |
"

13

41, BrafatEe ditw F U0 avr SBee

= ba

. 4 8
36 8

(41, Number of signals observed in the

BC NMR. spectrum of the following
compound is

42

42 The structure of the product formed during
the  reaction of amine acid with
ninhydrin is



43 fo%e T A o2C ww Ramw

T €Y 2% & Wh e E

L B=C>A
3LC=R=A

2 AFBEC
I gl S

43, The correet arder of rate of solvolysts

in BO%a ethanol a1 25 %Clis

o

A

LB=C>A
3C=B>A

44 FrEa  ORRTe #
mmfa:fa%

3 A=B>C
4 CEA>B

HWPAL

14

45

el

i 8sc-oo oo B RN R TR B g
2: grmaTEe 110117 Srde

B W[I] ‘II'.I'-I::':]_!IJST'a a
o W[Li 1.0 b

TUPAC nomenclatuee of following propellane is

L. trigvelof 11007 ]p’ﬁﬁlﬁne

2. wicyelof1.1.0.1 "

3 'l'l'_l_E}l'{.‘_lﬂ[T i !”{}{_]P‘r‘ﬂm
4. tricyelo[1.1.1.0% pentane

Az B2 WA

A tRtew ¥ B R
A RS ¥ A pefARE B
AT ¥ s B G

The -oorkect: statersent about fa!]-::-w:ng.

speciesis

5 @

Eﬂth ﬁ. and B are. ammmm

A ﬂ am_m&mcané Bi 15 D.‘n:narumaha :
v AR is nonaromatic and Bis! antiaromatic
Ay mmatic ‘and B {4 homearomatic

= L e

ﬁﬁmﬁfﬁam#mﬁmm

1, n#ﬁﬂﬂa&ﬁm%#
Hﬁmnmwa



47.

47,

48.

15

3 AW B BAE S E
4. A B g Hifae wwor §

- The corpect statement about the following.
‘campounds §§

Ma Me

A B

b, A is more stable than' B

2. B is more stable than A

3, Aand B are equally stable

4. A and B are both locked conformations

o, Twd gReofas B s L,
&, & yan T gl we A d
R i e e
. Rrww vt e e g
. EHT ;mw&mm%
. Rt o sEEr B wwe A B E

e I

In the pure Ramin rotational Epamwn af’
"G, whose electronic pround state is %,
transitions to/from =

L, even Jf levels are missing

2. odd J fevels are missing.

3. all S levels appear

4. none of the ./ levels appear

T B & fov gue s 5w

wE |
ks

-;1+En2£

k_y

ECED

AR ¢ ¥ fAr sl swen Bfeewe
ﬁﬂ;ﬁﬁ’rmﬁﬁm#mmﬂr

B

(4181 % s & |
- AT B % e &1
{4)'aiB)e 3 o $1
. [Al[8] & T &)

b e

Elementary steps of & reaction are 4§
follows

Yot
2{,’ —sﬁ_

If steady state approximation is whuablc-
to €, the-rate of product formation in the
reaction is
L. propontionsl to [4](B]
2. proportional w [A][B] -
3 proportionil . {4} 2[#]/2

4. independent of {A1[H]

49. aaﬁﬁmﬁﬂmmiqum%
AR iz 13_“_

a2 e T
g EE ¢:. h;

49. The term symbol for the gmumi staieof B; is
1 1g+ D45 g
B

.3.. :"Eg 4. EE;

54. wm ﬁﬂmrﬁ iffveardr w
[Gxy= ?m-a =Ge-mza® | aw !r‘amn*r &
T wEor @

a 2.
Foaly A

ﬂ'

iyt

50. A Gaussian dlﬁi‘ﬂbutimrhas the functivaat
rﬂrm ffg:-} W {I"mi ."'\.:;rl ThE
variance ﬂl“such distriburion is

IR 2o
Lk 45

51, v Jowavhm weleR oW & v

i # oftada grar &

I FEE 2. FEaE
LA 4, U=
&1, The change in entropy fur a reversible

.,admhatmpmms-.s
F mdatimum 2, minimurm.
3. zero 4. positive



52,

51 w

‘53,

55,

Znls) + Cu™ (mg) = 2™ (aq) - Cuts) *
e mwE FF R, 100V ARG
& Ity &, ﬁngaa Tl H i ¢

(F=95500 coutomb mel )

L2129 mob"

T, 4212k med

1 212 kfmot™

4. 212 I mot”!

The standard cell potential for thie reaction

Zr(s) + CuP (ag) = Zn"(ag) + Cu(s)

i+ 110 V. The Gibbs f‘ree*enm*gjﬁ change
duritig the reaction is
(Fq%ﬁm cautorsbmol )
~21.24%) mol!
1. +212 k] mol™
3. <212 kJ mol!

& =212 I miol!

'ﬁf E'EET{:‘ lmul‘s—'}»‘ E‘ﬂ' Hﬁ-’lﬁm‘riﬁl‘
-%‘lﬁ:’é‘
118

2!
4

aor2

3

If the unit of the. e corstant of a; repction
i5 Limal s! . the order ol the redetion is
Ll % 2

3R Vi

§7F R & apun ' sdwmie
w;mwmm#
ioHs, 18
% 3;51 4.; g

o The lowest enerey state of a 151251
‘electronic: gmﬁgumi:en m:m*dmg to

Hund's rufe, is s

LS 2 A5

& 3-31 4, 15]’
fﬁﬂ%ﬁﬁﬁﬁﬂﬁﬂ%mmliﬁj%
ik

3 2y, a, 'fj;a,;

The commutator of % with the Hamiltonian

A, %, H]ais

16

1.0 2 ik
By 4 Lp,

56. UE 5, e ReeE, 28 kg Aew
W & mmew @ daw e bl osw
Togea = zscmmMmfmmﬂ}
g._

(m #2500 J mol ! ﬁ?fmr}

. 03
3 0008

2005
-1 CI= N

86. A3 g/L polymer $olution is mpared with
A ptllfmcr whose mﬂia;f maas .25 kg, The
osmatic pressure {inatm), of this solution at
25 Cis
(Consider RT = 2500 J il } ,
1..0.002 2,005

3. 0.605 4. 8.808

57 uf%wvmm%mﬁmf&a&ﬂ
#W@'ﬁi‘ﬂﬁﬂﬁﬂ#g& TE

O Mt R AR K, A g
Hmaﬁﬁ'iﬁsﬁ%
wydE
e 2
s e 4.
2 .

ﬁm_m[ﬁ-_

ST.IF ull the lattice pdints of an FCC structure
are otolpied by uniform hard spheros that
tm.l:‘h cach mh::r, the fragtion of volume
Gocupied is

I :tr':.,-":i_ 5 E L
E IV e
5 2
3 _; ) o

ﬂagﬁamﬁmmgwua?ﬁrm%
1. fawRe Jomit st
2. TR It % mew gt
3, ﬁ%m%mﬂmwl :
4 ﬁlﬁamaﬁrml

58 Origin of the colligative properties of a
“diluie m*iutmn TS
I w:r!auh;;t of sokite. mqiemh:
z, 1m¢ractmn of solute-solven! molecutes
3 r&:‘p mf'h;.t!pv of mixing
&, entropy of mixing
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50, The graply e represents thn Lanpﬁun*
#dsmr}mﬁn Isorthd:m is

o

34T
'y _//

P'-v-'lr

=

S

60. TR A ¥ BE-TEWIEH BT FoH B

—

A '

'-W:IB

P

hAi)H is

AR

Consit

ik

o

- .pﬂj.,'::g_'ih Re'j;i
B OB
 PeRGeE Red

P Qi Rl

60, Correqt mateh for the coenmimes in Column
A with their function in Colutin B is-

ey

Colii B

£ N.ﬂhl}ﬂ

Oxidation.

EAD

i | eyl growp transer

P.
B

CoASH

e ek

o {?-‘l,l R

Pifis Q-1 i
P-iliy €-ii, Rei

P, R

| SHARISE/E—1AH—2A

IS

17

61, bisty %ﬁmﬁﬁam Pmﬂmﬁ
I IR SRER ; BEif
aﬁﬁﬂﬁ#%‘w:ﬂﬁmnm 5@?
T&maﬂm :

61, One of the products formed in the bisin”
aliyl) nickel complex catalyzed eyelo-
.-dlmurwtmn of butadiens in the presence
of PR; is m-:mpatmd A gwen below:

t&&wf}f n:s precursor.




62 FOERY WAA LA mEr w0 R
T e e S weE

ey e i
A | A 1
@) NGl — (iy P50,
o -t :
{h) MeiCH —s- (i) NHy 3 N
[ME;“?} : = A
fe) Ag + Au— fiif) [HaSOsF]
AglAus]. YT 3FeT)
(dy HyPO, — (v B el
[POH]" -
at e §

By = 4005 B Gy () = G 1) - Ly
2, ay = () by = (i te) — (v ) = ().

(= G (b = (i 0e) — L () = vy
4 o= (g () — (00 (e = (v ey = (i)

62. The transformation sre given in column [
and reggent in- ‘colutmn [l Mateh the items
‘of column T with those of eofumn 11

-Cb’%ﬂmni . Column [1
fa)y (MaO, b — | (i H.80,
| MnOF
(b) MeyCH —- | (i) Natin liquid-
[Me:C] N
(@) Ag +Auw - {m’} [H.SOF]
AgiAuty {super acid)
() BPO— | ) Liguid Bk
[P{OH )] :
Theearrect match i3

. = (b — G (8) — ik (@) - G
2, =) kA~ te)- {WL (=i
3 (=i (g = () =0 ) i) |
40 (@) =it (- m,cc}= (v 4y — i

iﬁlﬁ#ﬁmﬁﬂ'?ﬁfﬂﬁﬂm*m.

PR st o f&ar-r‘fﬁﬁw

(A) 2t A AR Y e
srereen 9 2 A o g b

(B) g T & T +Hem g oner &1

(C) BEsrETEe @ 00 s
st

{m WWWWW@##
W e’ A I BT B

R

- ) T
Ly {c}
(A )
(B)(C) T (DY,

:r‘.-r -

e
¥

63, Consider the: f‘milgni‘ng statements for the

axygenation of hemocyanine:
{A} oxidation state of both: copper atoms
_changes'by two
(BB). it becomes intense bBlue from colourless
{E} dmxvgsm is reduced 10°057 .
(D) the perin’ bond forms hetween
wch ox ygm and r.'b‘pp::f atums
Fhie! mrmm stalements arg:
1 {A) and (C)
2. (B)and (C)
3.8, Gy and ()
4, (B, (C)and (D)

64. TafaflE avpEt (AD) # c-o e

4.

lPﬁCl;tQm}r 1A wm’ihhcﬁm}i B),
[Pt{Pi’th%ﬂ»{CNh H fE}

A <Ay < (B)
A} =B = ()
- (B)<(C)<(A}
O < (B =(A)

4’-"-“ L

The correct increasing order of C-C bond
fength in the 'Fmﬂﬂwiﬂgmlw.l-!és (A1)

[PCHCHAL (A), [PUPPhsHCH] (B,
[PHPPRs)(CACNY] (C), s

L (CY=(A)<(B)
I (A= (By<{C)
i (B} ﬁ{ﬂj{{ﬁ]
4, (C)=<(B)<{A)

- BT # 8 SR o FaRT 7l L

”‘Cﬂ'[ﬂ ~CIHATHOBH)] LA (B H;] (B,
Eﬂ'lfl"lﬂ‘ﬁﬂu{gm?}}i (€, [CaBit ) ()

1 (E) 7 D) 2. (A)FET(B)
3 A)FTC) 4 (ByEUTC)

S RISEA8—TAH—2B



65. Which of the following ate NOT claso:
n]usws'?

[{Cotn CaHa(C BT (A, [BiCH,] (B),

Bk AU{PFH:}}T (€ (a3t o) (B
The corréet answer is
1. 4C) and (D)

3. (A) ami () 4. (Byand (C)

ﬁﬁﬁmﬁﬁaﬁ#ﬁwﬁm-

m#mnﬁsmmtmm

HARTATEE o

[PA(PEh;),) (A} [V(CDL.I (B) [CeCON} (e
[RBPPRLEH (99, FOr-CHLINICNOY (E).
N0 {F)

I BEUIC 2 AFSTE
oA @D -4 cfmE

66, Identify the pair of moldeules which ars
ispelectronic as well as isostructural from
Fn!law:ng
"ﬂiFPFtth] (AL [VICOKL ﬁB‘-} [ERCO]
(€, [RiPPhy) CH] (D), (07 SCHINING)]
(B, Ni(CO), (F)

1. Band € 2 AwdF
3. Aad D 4 CandE

67, PRt ST ¥ R ot ot £

2 . o
Fh; _..I::-I i :
th{‘ g F‘F’h ‘gacalin

"C-Z?L'FFH“’-'
; R
) o
() R B R s | #
FgT 11 & a'{é?r~3§1 \
e TG ) %I
@) (1@ :ma’ﬁﬁ ;rFEr gx—"ma%i

() T FEET PRy affie )

T SR E

I CA) B T (AR
3y () B (R ()

3 (A ) and(B)

13

07, For the rmmmng ma;:hﬂm correct statentent{s)

lssare

68 ('

i : {m
(AN Oxidation -state of dridium increasies
- ﬂ-ﬁm Tw il
(B) Ttis B hydnde elimination reaction
{Cy {I}amdr (n both aie dtamagnq:u:
(B It Is migratory inscrtion reaclion

The correet answer is
I (A oty

2. {Ayand {L}

3. (€) and (D}

4. {B): (C)-and. L)

G_;Tl;}hi_(‘ﬂh] A CHE .a‘fm
mdﬁ%imﬁm L NMR e
# o Tammae quter ¥ Tomd weia dimar
) FEA 305 ¥ A Ad pin: i

aq zﬁi‘ﬂm BEAT ¥ B o ‘uwkm

sézm‘rarfrmm
; ¥ 3:3:15 Bl B AW B

i
Pﬁf"? \E\?

CHy

o’ o] eme” e
| CHa
. _f & r

m?ﬂ;‘cl—g PhyP~ 7 \\GH=
: e e

x‘g\‘:@

GHs




68. ‘The reaction of [(1) -{.&i;}l‘r{{,ﬁ}j with CHal!
pives cmnpqunr;i A 'The "H NMR specttum of
A shows two singlets i an integrated intensity.
ratio of 3:5, Compound A upon reaction with-
PPhy gives compound B. The 'H NMR
speetrum of Boshows 3 sﬁs e!‘ sagnéh i opm

Aand B rE:épEE'ih':_eh:;'-arE

@“‘]‘ | ._I”'

R
Fe AN 20
) OHy
2 Fa T
e both| P 1};;??‘90

o o7

3, et
PRl v M
o7 N ™7 oo
A, ik &
E J/F}EEG?Q o E‘G’;*aﬂa
69. At R gl & faearer momersar
e & i wuat ) et
(&) NE e CEoge & TR Em
it grar ¥
(58, NE Y 30te HL A % TR e
e
{€) NPy S OHAY ol Radicd
it g ¥ .
(D% CH TT CoHL AT & T ane - wamie
waaaE
sy
T A J.‘:'-?EITD G I 2l

3, BCwy & BawD

T, Xe @1 v iR

69. Jdentify (the correct statements about the

ﬁi‘ﬁmruncgﬂﬁ*ﬂw af | Broups given below;

M}E!*: group has greater valug than
=.hatﬂf NFE;

[Br} WH, group has lower value than
that of NI

(CYOH group has ‘greater value then

o thavoftNDy

(D}EH and C:Hs groups have almost
simaiar values

Correct WHT&
I ABwmdD 2, BandC
- 5.B.Cand D 4. BandD

7. Haaw aﬂ#ﬂmﬂﬁ “Heltght aquivu{em ]

thepretical plat (HETP) f FEaTafly 7
3 P S W A ?‘mk £
(Ay FTE & AT R

(1) e M & A ow

(C) gorere B AR

(D) #re & gt )

LA BEG 2. caurn
3 B, CTMID 4, ATETC

70, Height equivalent to  theoretical  plate

(HETP) in ~gas-liguid  chromatography
depends $lgufﬁﬂﬁm5}r on which of the
folewing?

{A) Temperature of column

(B) Velacity of carrier gas

(€} Packing of calumn:

(1) Column materlal

Lortect answer is

1.4 Band C

2. Cand B

B Cand D

4 and ©

HAEE (Z). Nak &
q At & T o s fm ok
FRUEY 100 °C uT T T W 2 A
sed g Bl A & avde seaiEe @
trﬁr#t O] HTAT ¥ zma%‘ g
1. Nty ST XeFy
= i Hﬁn-ﬁ‘ﬁk‘.ﬂl’n.
5. Xl T Xeky

- # KeF, BT NoFy:



7L A binary fluoride (Z) of xenon sombines
with twe meles of NaFf to give & product
which on  heating to 00 °C affords
compound A. The alkaline hydralysis df A
gives mmnaie saft, 2 and A are,
respectively,
T, XeF, and XeF;
2. MeFand XeF,
3. XeFg and XeF,
4 XeFsand XeFy

72. i A # Rr ufadife G @1 s 8

[ HIEF A | #eAs

i gm‘r 8] Smelin),

(i} w b Thel)

{iit) T (&) Ealiny

{iv)  wer iy (i) |
wh e

1o (e {if}{& {REBY; ()
2o (G dieCEy: Cin-toy (vi(a)
3. ey (i-(by €i-(e): {ivyd)
A (e (i) m’Hd} (ivia)

72 Match fluorescence eplours given qn
‘column A with lanthanide jons g’wm in
column B

 Column A Column B

o Pink fa) Sm{ill)
(i)  Red () ThL
(i) Green [i{c) Buflil)
(iv)_ Blue (d) Tm(li)

Qorrect mutch is:

I (;}-{a’,l. [{HE {m] {Ja} {de}
2. (LAY, Gi)dey; (iii{b); (iv)-La)
3 (i)-Ca): ()-(b); iit)-(oX: (v H(d)
AL (i), G-(b); (i)=(d); (v)-(a)

73. cisEEReA & v He Em‘f w1 HE
iR
(A} ﬂﬂxa[mﬂiammﬂﬁm @
gravar £
() FHF mwﬂmcn & e Bw
it m

21

o) % @ A o & W o

st NHy e 3t a8
(D T B UE o [PUNHLCIHLON" & B
e e s

8] m&mﬁﬂ?@ﬁmw

73

74,
200 MEV In one day fission of | kg U witl

75,
-awthﬁra#wmmm

il F A HeudE Fr £
i AT By
LA CwaTD

3 A C DT E

i B,C8WMD
4. BLC, D E

Choose: the corpeet set of statements, for

efs-platin.

(&) Ttcan be prepared {rom KL PCL].

{B) 1t can be preparad from [PHNHICl.

{CY In'its preparation, the cheerved frens
effect for C1 I8 greuter than that of NH,.

(0} In Blood it stays in mqm{itrr:um with
eis-[PUNH: RCIH,0)]".

{E) In DNA strand, it binds 1o two adjacent
nytas.ml& brses.

Thiz correct sel is

L A., Cand D

i ﬁr 25 ﬂ.‘nd B

21 ELCandE
4, B.C.DandE

By Ry @ s 200 Mev 3
o & oww R # VUE 1 g W

Praise TRl Wi (MW ) T, 95 &
1. 550
1,950

2, B5
4. 1250

It fission of = U atom the erergy rl.'!:w:fﬂﬂ is

give power fin MW approXimately

1. 530 2, 650
3. 950 4. 1250
[ResClT (4) FET (05,0 () i Fard

& e a9 T 8

I. g;t}m{ﬂya‘ﬁa’r & Mﬂmﬁﬁt uE
A E

2. (Ay (8 2t 3 N R WaRa T
#H0



76.

22

3 (AVH BT Mol g e e
By el T e A :

4. ;A}ﬁﬁhﬁmchqﬁérﬁm ﬁ’&
T (B 2 wate wm

. The sirugtures of {Rc;u&r“ (AY and.

I{hgf_h}l {‘E} dre malde up of two NE:L.
units; For these strue;um, which statement
is wm:t"?
I (A) and [B} both Have MLI; unﬂs cilipsad.
2, (A)yand (B) I:an have MClLs uaits
Slageered. :
3. (&) hus Bath- MCH Lfn’lt'.i:;ﬂ;fug.ggrad
and {8} has both MOl units eelipsed.

4. (A) has both MCl, units eclipsed and

.{B}hav;bmrhM{Il units st&ggm:&

.mm%%@ﬁ#ﬁ@a##w

wmEE B g

TAY Gty & PAALAT Py & o

(BYCul) & PEo) 3T PAGIH % SareoT
e 81

1) Catiny 3 ReE $ wearie
wi T

1, AT £ 2. BEMIC
3. ATEER 4. B

For the Wacker pricess, pick: the. eortect

5 ﬂatﬁﬂﬁn’th‘] fiomi the ful!nwmg

(A) Pd.{.l!} 18 reduced 10 PA{D) by Cul)

{B) Fct{{!} is ux{d-imd o Pd{ll‘} by Cugtl)

(C) Cull) promotes the reductive elimination
{iﬂnﬂtmm‘ i%

1, AsndC 2 Band e
5. A and B 4. B nn:%y

W?}
IL: Mﬁ-‘rmﬁuwmmm
ﬁﬁﬁﬁa##mmm
1. A L Haen oo 1 E
mﬂmnaﬂﬁfﬁ
amlaﬂanmﬁwtﬁm
st oAl s gl

3. BU 1 EET B A e 1 3 b
4: el et e 1 HEe §

77, Consider tﬁifumugsmt&mams

| Hi ﬁ;st‘:[f 1% ﬂmﬂm&il} lexs: stable Thﬁn FCls
1% Size of s is more than that of P,
Ehuuér: gorrect answer from the fallowing
ks 3_Stmmcnt$ 1 and TF aré trus and 1
~isithe correct t;tpiunﬂi‘rﬂﬂ af L

2 Etafmt,mﬁ 1 ahid 1Y are trise bt FE

5oL the- cirreet Expiana‘tmn ford.
3, Statemient 115 true and- staternent TF i3 filse.
4. Bath the statements Tand 1 are false,

8. BesCl (1), BaChy (U 9 GasCly (i) & e
fnsofin st W Rew difew
A T M (= B B, G e

&l
(15} B, B8 Ga T amarefieror araear 2.
(Cym & R S ] & o M
sy wee i
{mm l:ﬂﬂn# ﬂwﬁﬂ wug w
1 A BFuC
i D¥Em

2 AENE
4 B OED.
78, Consider the following starements. for

Be;Cli (1)) BaCl, (1) and G8,CL (TH):
m;mm mrrM-MfM Be, B. Ga),

(B} Tht nmﬂ:admtx staté of Be, Band-
Gﬂ Fa-e2
{c) 'Ehe gmmmw amwn& the eentral
atom js planar forall.
(D) The gmwamun& the central
atom is planar in Fand 11 ﬂnhr
The cotract statement(s) is fase _
b ACB and O 2. Aand B
3 Doonly . & B, CandD.

79, BrtRrae wE R AT
m;ﬂﬁa e & VU B e o aT
el 3w B
UBY NV (ag) YS9 O (g) TS e
HEIEE zl
(C) VP (ag). & T oF lag) & TRT
“safeg A aa ¢ GEd s



79,

80.

3. BandC:

2

1. ATuTH 2. AFwre
3. BEUTC 4 ABRUTC
;CBﬂSidE‘T the following. statements:

(A) Cr is easier 1o oxidise than V™
in the gas phase.

B o {aq) 52 more pawerfhl

_ reducing agent than T 7T
(C) Therateof ﬁ*ﬂtﬁrw{!hﬂ.\?ﬁz’ forr Cr* (ag)
is much faster than for V VT (aq).
‘The correct statements are
1. Aand B 2. Aand€
4 A Band C

- AT |- 11 % F9v St Alp wx faw

i

(1) [FtCNN + [CofONK]
[FelCNa]" + [CotONT™

(1) cctmm:r,?* +Co*bipyhl >
Cofbipyh]"" + [Cobigyh)™

(M1 [CaNH,)FT kgcrmgm,f
[CoNH ) HO) T+ CrHOE

() TEE i F T A e
i ani -

(B FEINE fﬁﬂm_‘#ﬂ;ﬂ' mafyEToT
w9 Bl Bl |

(C) AT | FTiA I a7 gdaee
TR Hm gar ih

(1) et | An g o s qﬁw
FHTiTeT wEATEE g &

Y W g

L AFUTB:

LBANTD

2. BEWC
4 CHUID

Consider the siatements A-D regarding

equiations 1111

(n EFefcrvm” +ICoCNRT —
[Fe(CNT" + [CoCN)s)™

(10 Cotbipy)sl.' + [CoMbipy)]”

~ Gofbipy)]" + [CoMbipsn]

(1) [CoNHRET” + [Cr(H0L)" =

[CoNH; s HO) + [CoHLO)F]*

(A) Marcus: eguation is appiwahlr.sm
land 1L -

(B Mamawqu_mlnn :5>app{mﬂbk to’

11 only,

(€)' Equations Tand [ involve inner

sphere electron transfer.
(B} Equations Land 11T involve ianer
. 7 sphere slectron transter,
The corrct statements are:
LoAad B 2 Bandg
3. Band D 4 CandD

81, PRl e sk

I Urea-Ha0y
: (1 equiv.)
' ; ii. H:0"
: ii- Bry, COly
2,
%
4,

81. The major product formed in the fallowing
u‘xiddhmn mﬂmn 15
i. 'UFE-E*’H'E@'!E':
(1 equiv.)
e
'iii-.-"___Eig'-g, CCly




i

83, Bewfay afBRT w1 % I ve
T m'ama#-r

:ﬂ grlitns
by Gane . Co0E
3 Ao ‘1‘?0- - .-'E_';'E' .
o G i T
A ] m el . _ne : x
| e T toos
s Gamsins g MO
4 C

00t :
gL | et B H@, e

83.°The midor produiis A and B formed inihe
following reaction sequence are




25

84, Twafaas i w & o wHw
Mﬁmaﬁ

,“\T.tm

m '._n. - 5.
| A @_Wm:

PropeBHECR

Py L e .. 0

hhl:

o

H e

84, The major producis A ancl B formed in the
F:}l{ﬂwmg r'eac;lmﬁ sgqﬁﬁmm &n..

LIHg=CHDEL
e -

f)’m ENPSGHOOORL

= “E

85, PrfRfae 2@ #o o sured A
1 Hoae AU A I B
(b = STEATFARIN)

A=y

85 Etrucmm of the mial:mcdmre A and the
final pl’{:rtiut;.t B.in the Fﬂi-’lﬂwmg reaction

sequence arg
{dba= dibenzylidene acetone)

SEOEL M,{lta;l, mOREA
{:ﬂ m‘r thpwmb &) Ay e
Vg o




3. P el e [42) Tl
HeweT

A& e WWW
et (242 HETA A

86. Mechanism of the following transformation
involves

@ d .I"I T e

L. A[242] eyeloaddition followed by
“con’ rotatory clectrur.:ychcrrng opening.

2. A [4:2] eycloaddition foltowed by ‘con’
Totatory tlﬂctrmyclm ring opening

3. A [442] eycloaddition followed by Cope
rearmngement

4. A [2+2] evcloaddition fﬁ!!qwﬁl by i
rotatory efectrocyclic ring apening

87. Menfaflw Wttt a1 NuoAckcon %
m’m # Remm sveem ¥ B oad

@:‘”‘" e
E 'OAc
g

o drans-L - SR R

ﬁ%ﬁun#ﬁmaﬂ? ki

Frar

2. :mmﬁiﬂ'ﬂgﬂmmaﬁ%
AT A F 3 B X wiBr e

rﬂﬁtﬁ&waﬂaaﬁﬁmmm
#A 4w

'f"#trx' -#mﬂﬁﬁ'mm#l
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